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Jlozeunernxo Basenmuna

q1 = 18kH /M, g2 = 6xH /M, P = 30xH.

3amaua M21.2.

Jlozsunos Pedop

q1 = 6kH/m, g2 = 18xH/m, P = 30xH.
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3amaua M21.3. Mauxo Kcerusa
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q1 = 18xH/m, g2 = 15xH /M, P = 18xH.

3amaua M21.4.

Mouceesa Anacmacus
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q1 = 3xkH /M, ¢o = 6xkH /M, P = 3xH.

3amaua M21.5. Mycanabues Mazomed
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q1 = bxH /M, ¢o = 15xH/m, P = 3xH.

3amaua M21.6.

Myzanos Baaducaas

q1 = bxH/m, ¢ = 18xkH/m, P = 18xH.
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q1 = 35kH /M, g2 = 18kH /M, P = 9xH.

3amaua M21.8.
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q1 = bxH/m, ¢ = 15xH/m, P = 39xH.




3agaya M21.9. Opanbexos Kupuan
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q1 = 12kH /M, g = 15kH /M, P = 27xH.

3agagya M21.10. Ozxaonkosa 3unauda
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q1 = 3kH/m, ¢o = 6kH/m, P = 18xH.

3amaga M21.11. Hanszuuruti Cepeet
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q1 = 5kH /M, qo = 27kH /M, P = 6xH.

3amaua M21.12. Hepexsamos Andpeti

q1 = 12xH /m, g2 = 36xH /M, P = 3xH.

3amaua M21.13. Tuzenvro Anna
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q1 = 18xH /M, ¢o = 9xH /M, P = 36xH.

3amaua M21.14. Hoavwuxos Asexcandp
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q1 = 9xH /M, ¢o = 39xH/m, P = 6xH.

3amaua M21.15. Iponun Cepeet
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¢1 = 9xH /M, g2 = 6xkH /M, P = 6xH.

3amaua M21.16. Pocasxos Leopeui
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q1 = TxkH /M, ¢o = 3xkH /M, P = 3xH.




3amaua M21.17. Cupux Fausasema

¢1 = 3kH /M, qo = 6xkH /M, P = 36xH.

3agaua M21.18. Conoevée Anexceti
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q1 = 15kH /M, g2 = 33xH /M, P = 12xH.

3amaua M21.19. Cmpeaxos Baaducaas

q1 = 3xkH /M, ¢ = 9xH/m, P = 15xH.
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q1 = 15kH /M, ¢o = 3xkH/m, P = 27xH.

Cyxonxun Baaducaas
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3agaua M21.21.
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Tpyzarnos Andpeti
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q1 = 3kH /M, ¢o = 6kH/Mm, P = 9xH.

3amaua M21.22.

Ypman Huxuma

q1 = 3xH /M, ¢ = 33xH/m, P = 36xH.

3amaua M21.23. @opmanvros Cmenan

s

g1 = 5xH /M, ¢o = 9xH/m, P = 9xH.

3amaua M21.24.
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Xycnuapos Aavbepm

q1 = 13kH /M, ¢o = 6xkH /M, P = 12xH.




3amaga M21.25.

Hlapuesuw enuc

¢1 = 9xH /M, ¢o = 18kH /M, P = 3xH.
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HImarxomun Apmyp
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q1 = 6xkH /M, g5 = 12xH/m, P = 24xH.

3amaua M21.27. Hlymunos Asexcedi
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q1 = 15kH /M, qo = 6xkH /M, P = 9xH.
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q1 = 15xH /M, ¢o = 9xH /M, P = 3xH.

3amaua M21.29.
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q1 = 29xH /m, g2 = 15kH /M, P = 3xH.

3amaua M21.30.

q1 = 12kH/m, g2 = 9xH/m, P = 9xH.
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M21 daitn

21mds-AnsA

Ne Xa Xp Ya Ys
1] 216.000[-168.000] 40.000| -112.000
2|-140.100( 170.100{-261.000{ -15.000
3| 186.000| -24.000| -51.000 9.000
41 74.000| -89.000f 14.200{ -71.200
5| -45.750 45.750| -60.500{ -13.500
6| -59.700f 11.700|-150.300{ -11.700
7|-154.5001 31.500(-256.500{ -31.500
8| 143.500(-183.500(-118.500{ -19.500
9| -92.250] 86.250| 69.429 35.571
10| -2.667| 2.667| -6.000| -18.000
11|-160.688| 151.688|-303.777| -68.223
12|-162.900| 204.900(-404.400 80.400
13| -40.500{ 58.500| 43.200{ 46.800
14| -33.750] 12.750| -84.750| -26.250
15| 68.118| 9.882| 37.412 -7.412
16| -63.846| 94.846| -1.198| 46.198
17/  6.000] -30.000| 52.800| -28.800
18| 250.350(-187.350(-402.000 -6.000
19| -54.469| 54.469| 90.750 23.250
20| -99.000| 135.000(-126.000| 90.000
21| -4.500] 22.500{ -9.000| -18.000
22| -23.893| 44.893|-186.000| -18.000
23| -48.000| 48.000f 48.500| -34.500
24| 11.861| -11.861| 46.750 62.250
25| -24.000| 75.000{-138.000| -45.000
26|-762.000| 762.000| 940.000|-1000.000
27| 27.000] 0.000| -51.643 9.643
28] 499.500(-418.500(-591.750| 627.750
29| 383.000{-493.000| -22.500| -217.500
30| 73.500f 4.500| -74.250 2.250




